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All Higher Level topics have been combined with their respective Standard Level equivalent, so in HL topic 2 revision resources there will be topics 2 and 12. 
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All topics ranked according to their impact on your final grade using exam papers from 1999 to 2016
	Topic
	Option
	10
	N.ofSci
	8
	4
	5
	9
	6
	1
	3
	7
	2
	11

	Rank
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	14

	% of IB Grade
	16.6
	8.4
	7.4
	6.5
	6.3
	6.3
	5.8
	5.0
	4.1
	4.0
	3.1
	2.5
	1.8

	Paper 1
	
	14.0
	
	12.8
	11.5
	12.2
	9.6
	8.0
	8.4
	9.3
	3.7
	4.7
	3.4

	Paper 2 A
	
	11.1
	
	9.2
	9.3
	12.3
	9.5
	11.9
	11.8
	6.3
	6.1
	6.0
	3.2

	Paper 2 B
	
	20.0
	
	12.6
	13.2
	9.1
	12.2
	6.9
	1.6
	5.8
	6.9
	2.9
	2.9

	Paper 2 ALL
	
	15.6
	
	10.9
	11.2
	10.7
	10.8
	9.4
	6.7
	6.1
	6.5
	4.5
	3.1

	Paper 3
	69.2
	
	30.8
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Standard and Higher Level components compared
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Essentially, IA has the exact same weight, the Option in HL is almost 50% more important than in SL but Topic 10 is more important in SL than HL. All other topics contribute almost equally to a SL and HL grade.
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The dark blue bars are where your final IB grade will be from: 
1. Your IA is the single most important part of your IB HL, more important than even the Option. Imagine how much time in class, at home and in revision you have or will give to topics 9, 10 and 11. Your IA, on average, will be worth more to your final grade than all those combined.
2. The Option is the most important topic for your IB grade compared to the everything else  
3. Topic 10, Organic Chemistry, is by far the most important topic for papers 1 and 2.
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All topics Covered in SL RED area and HL BLUE COLUMNS in IB Chemistry in papers 1, 2 and 3 and IA
Percentage of all WEIGHTED marks awarded for each topic from exam papers from 1999 through to winter 2016.
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24

25,

26.

What happens when the temperature of the following equilibrium system is increased?

0(g) +2H,(9) = CH;0H(9) AH® =-91kJ
Position of equilibrium | Re2cion rates of forward

A shifts to the left increase

B shifts to the left decrease

c shifts to the right decrease

D. shifts to the right increase

Amixture of 0.40mol of CO(g) and 0.40mol of H,(g) was placed in a 1.00dm® vessel.
The following equilibrium was established

CO(g) +2H,(g) = CH,OH(g)

At equiliorium, the mixture contained 0.25mol of CO(g). How many moles of H,(g) and CH,OH (g)

were present at equilibrium?

Equilibrium mol of H, Equilibrium mol of CH,OH
A 025 015
B 050 025
c. 030 025
D 0.10 015

Which species behave as Bronsted-Lowry bases in the following reaction?

H,SO, + HNO, = H,NO," + HSO,”

A HNO,and HSO,”
B.  HNO,and HNO;"
C. H,SO,and HSO,”

D.  H,NO, and HSO,”
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13, What are the signs for the entropy changes associated with this reaction?

H,0(9) - HO()
ASurromangs ASusem
A +
B + +
c N
D - +
20, Graph 1 shows a plot of volume of CO, (g) against time for the reaction of CaCOj(s) with
1.00moldm HCI(aq). The acid is the limiting reagent and entirely covers the lumps of CaCOs (s).
Which set of conditions is most likely to give the data plotted in graph 2 when the same mass of
CaCO; () is reacted with the same volume of HCI (aq) at the same temperature?
]
=
o
5
°
5
2
Time
Size of lumps Concentration of acid / moldm
A larger 100
B smaller 005
c smaller 100
D larger 005
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The data shows the effect of changing reactant concentrations on the rate of the following reaction

at25°C

F2(g) + 2CLO;(g) > 2FCLO,(g)

Initial [F, (g)]/ nitial [CIO, (g)] / Initial rate of reaction /
moldm moldm moldm™s”!
0.100 0010 120 10°
0.100 0030 3.60 < 10°
0.150 0010 1.80 % 10°
Which is correct for the order of reaction with respect to the fluorine concentration and the overall
order of reaction?
Order with respect to [F, (g)] Overall order
A 2 1
B 2 2
c 1 1
D. 1 2
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22. Which pair of graphs represents the same order of reaction?

A
Concentration
of reactant
B.
Concentration
of reactant
c.
Concentration
of reactant
D.
Concentration
of reactant

Rate
Time Concentration
of reactant
Rate
Time Concentration
of reactant
Rate
Time Concentration
of reactant
Rate
Time Concentration

of reactant
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23,

24

25.

Which of the terms in the Arthenius equation takes into account the orientation of the molecules?

k- aert
A A
B E
c R
DT

What s the effect of increasing temperature on the equilibrium?

CINO,(g) +NO(g) == CINO(g) + NO,(g)  AH™=-18.4kJ

Position of equilibrium K,

A moves toleft decreases
B moves toleft no change
c. moves to right no change
D moves to right increases

Which is correct for an isolated system in equilibrium?

Gibbs free energy Entropy
A maximum maximum
B maximum minimum
c minimum maximum
D minimum minimum
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24,

26.

Which conditions give the greatest equilibrium yield of methanal, H,CO (g)?

A

Which combination of temperature and equilibrium constant is most typical of a reaction going fo

CO(g) +H,(g) = H,CO(g)

Pressure Temperature
high low
high high
low high
low low

completion? (Refer to the equation AG = ~RTIn K.)

A

Temperature Equilibrium constant
high -1
high <1
Tow -1
Tow <1

Which of the following is not amphiprotic?

A

AH =-1.8k]
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22.

23.

24,

25.

Which best describes a reaction in a state of equilibrium?

A The rates of the forward and reverse reactions are zero and the concentrations of products
and reactants are equal.

B, The rate of the forward reaction equals the rate of the reverse reaction and the
concentrations of products and reactants are equal

C.  The rates of the forward and reverse reactions are zero and the concentrations of products
and reactants are constant.

D.  The rate of the forward reaction equals the rate of the reverse reaction and the
concentrations of products and reactants are constant.
‘The equilibrium concentrations of X, Y, Z and W are 1, 2, 4 and 2moldm respectively.
X(g)+2Y(9) =Z(9) +W(g)

What is the value of the equilibrium constant, K,?

A 025
B. 05
e 2
D. 4

Which of the following molecules can act as a Lewis acid but not as a Brensted—Lowry acid?

A BF,
B PCl
C. NH,
D HO

Which is a 0.001moldm™ solution of a weak acid?

Conductivity PH
A poor 5
B good 7
c poor 10
D good 3
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‘The hydrolysis of tertiary bromoalkanes with a warm dilute aqueous sodium hydroxide solution

proceeds by a two-step S,,1 mechanism.

Stepl:  R-Br—R +Br
Stepll:  R*+OH —R-OH

Which description of this reaction is consistent with the above information?

stepl Step il Rate expression
A fast slow rate = k[R-Br]
B slow fast rate = k[R-Br]
c fast slow rate = k[R-BrJ[OHT]
D slow fast rate = k[R-BrJ[OHT]

Which combination of temperature and pressure will

280,(9) + 0,(9) = 250,(9)

give the greatest yield of sulfur trioxide?

H=—196k)

Temperature Pressure
A high low
B Tow high
c high high

D. low low
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2.

24,

25.

The equation for the reaction between two gases, Aand B, is:
2A(9)+3B(9)=C(9)+3D(9)

When the reaction s at equilibrium at 600K the concentrations of A, B, C and D are 2, 1, 3 and
2moldm™ respectively. What s the value of the equilibrium constant at 600K?

A 1
5
2
B 7
c 3
b 6

Which species cannot function as a Lewis acid?

A BF,
B AL
c. coy
DM

10.0cm’ of a 1.00x 10moldm™ aqueous solution of sodium hydroxide is added to a volumetric
flask and the total volume is made up to 1.00dm* with distilled water. The resulting solution is then
thoroughly mixed.

What is the pH of the diluted solution?

A 9
B. 10
c. 12

D. 14
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20.

21,

22.

Which statement about a first-order reaction is correct?

The reactant concentration decreases linearly with time.
The reactant concentration decreases exponentially with time.
The rate of reaction remains constant as the reaction proceeds

The rate of reaction increases exponentially as the reaction proceeds.

Consider the rate expression:

Rate = k[X] [Y]

Which change decreases the value of the rate constant, k?

A

B.

Increase in the reaction temperature
Decrease in the reaction temperature
Increase in the concentration of X and Y

Decrease in the concentration of X and Y

‘Carbon monoxide and water react together in the industrial production of hydrogen gas.

CO(g) + H,0(g) = CO,(9) + H,(9)

What s the impact of decreasing the volume of the equilibrium mixture at a constant temperature?

A

B.

The amount of H, (g) remains the same but its concentration decreases
The forward reaction s favoured.
The reverse reaction s favoured.

The value of K, remains unchanged.
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22.

23.

24.

Which equilibrium reaction shifts to the product side when the temperature is increased at constant
pressure and to the reactant side when the total pressure is increased at constant temperature?

A Ny(g)+3Hy(9) = 2NH;(e) AH® <0
B. N,0,(®) = 2NO,(2) AHT>0
C. Hy(2)+L(e)= 2HI(2) AH® <0
D.  PClL(g) +ClL(e) = PCL () AHS>0

A mixture of 2.0mol of H, and 2.0mol of I, is allowed to reach equilibrium in the gascous state at a
certain temperature in a 1.0dm’ flask. At equilibrium, 3.0mol of HI are present. What is the value
of K, for this reaction?

Hy(2) +L(2) = 2HI()

A
5 30
=057
c "
_ @5y
<= Goy

Which definition of a base is correct?
A ALewis base accepts a profon.

B.  ABronsted-Lowry base accepts an electron pair
C. ABronsted-Lowry base donates an clectron pair.

D. A Lewis base donates an electron pair.
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Which equation represents the second ionization energy of potassium?
A K@K ()+2e”
B. K (9->K"()+e
C. K@E)->K¥(g)+2e

D. K'(9)->K¥(g)+e

Which pair of clements shows the greatest difference in electronegativity?

A MgandO
B. LiandF
C. KandF
D. Liandl

Which statements explain why a catalyst is used in the Contact process (shown below)?
50,(2)+10,(2) = 50;(g)

I Acatalyst lowers the activation energy.
I Acatalyst moves the position of equilibrium towards the product

I Acatalyst allows the same rate to be achieved at a lower temperature.
A TandTonly

B. IandIMonly

C. TandMonly

D. LIlandII
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23. What is the equilibrium constant expression. K, for this reaction?

2NO(g)+H, (2) = N,0(2) +H,0(2)

N,0]+[H,0]
2[NOJ+[H,]

[NOT [H,
[N,O1[H,0]

2NOJ+[H, ]
[N,01+[H,0]

[N,0][H,0]
[NOT [H,]

24, Which combination of properties is correct?

é‘;:":i‘:‘":f_ Boiling point '“"’"‘.‘:"::“h" Volatility
A large high strong low
B large low weak high
c small low weak low
D. small high weak low

Which compound reacts with calcium oxide, CaO?

A KO
B. Na0
c so,

D. Mg
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2.

23.

Which statement is correct for a reversible reaction when K, >>1?

A

B.

The reaction almost goes to completion.
The reaction hardly occurs
Equilibrium is reached in a very short fime.

At equilibrium, the rate of the forward reaction is much higher than the rate of the backward
reaction.

The diagram represents the vapour pressure of two liquids, A and B, as temperature changes. Y isa
point on the curve of liquid A

A

Vapour
pressure

Temperature

Which statement can be made using the graph?

A

At the conditions of pressure and temperature at point ¥, A is in the liquid phase and B in the
gascous phase.

At the conditions of pressure and temperature at point Y, both A and B are in the gascous phase.
At the same pressure, A has a higher boiling point than B

The intermolecular forces between the molecules of B are stronger than between the
molecules of A.
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23.

Which of the following will shift the position of equilibrium to the right in the Haber process?

N,(@)+3H,(2) =2NH,(g) ~ AH® =-926k]

I Decreasing the concentration of NH;(g)
IL  Decreasing the temperature

M Increasing the pressure
Tand Il only

Tand Il only

T and Il only

LT and I

Which compound has the highest molar enthalpy of vaporization?

A

B.

Ethane
Ethanoic acid
Propane

Propanoic acid

What are the conjugate acid-base pairs in the following reaction?

€.

HCO; (aq) + H,0 () = OH"(aq) + H,CO; (aq)

B"““"::;L““ B“"“‘;‘;‘:—"“ ™ | Conjugate acid Conjugate hase
HCO; (aq) HO®) H,CO;(aq) OH (aq)
H,C0;(aq) OH (aq) HCO; (aq) HOWO
HO® HCO, (aq) H,CO, (aq) OH (aq)
HOWO HCO; (aq) OH (aq) H,CO;, (aq)
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Carbon monoxide and nitrogen dioxide react to form carbon dioxide and nitrogen monoxide
according to the following equation.

CO(g) + NO,(g) = CO,(g) + NO(g)

The reaction occurs in a series of steps. The equation for the rate-determining step is given below.
2NO, (g) > NO, (2) + NO(g)

What is the rate expression for this reaction?

A rate =k[CO(2)][NO, ()]

B. rate=k[NO, (@)l

C. rate =k[NO;(2)][NO(2)]

D. rate =k[CO,(@][NO(g)]

Hydrogen and iodine react in a closed vessel to form hydrogen iodide.
Hy()+L()= 2HI(2)

At350°C K, =60
At445°C K =47

Which statement describes and explains the conditions that favour the formation of hydrogen iodide?

A Increased temperature as the forward reaction is exothermic, and increased pressure as there are
fwo gaseous reactants and only one gascous product

B. Increased temperature as the forward reaction is endothermic, and pressure has no effect as
there are equal amounts, in mol. of gascous reactants and products

C. Decreased temperature as the forward reaction is exothermic, and decreased pressure as there
are two moles of gascous product but only one mole of each gaseous reactant

D.  Decreased temperature as the forward reaction is exothermic, and pressure has no effect as there
are equal amouts, in mol. of gaseous reactants and products
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Which graph best represents a second-order reaction?

A

Concentration
of reactant

Concentration
of reactant

Time

Concentration
of reactant

Concentration
of reactant

Time

Which changes occur when the temperature is decreased in the following equilibrium?

~14k1

2BrCl(g) = Bry () + Cly(2) AH®
Position of equilibrium Value of K,
A shifis to the right deereases
B shifis to the right increases
¢ shifts to the left deereases
D. shifts to the left increases
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When gaseous nitrosyl chloride, NOCI(g). decomposes, the following equilibrium is established:
2NOCI(g) = 2NO () + ClL,(g)

2.0mol of NOCI(g) were placed in a 1.0dm’ container and allowed to reach equilibrium.
At equilibrium 1.0mol of NOCI(g) was present. What is the value of K,?

A 050
B. 10
c 15
D. 20

In which equilibria are the conjugate acid-base pairs correctly labelled?

I €O (aq)+H,0()= HCO, (aq)+ OH (aq)
Basel  Acid2  Acidl Base 2

L HCO; (aq)+H,0() = H,CO;(aq) + OH (aq)
Base 1 Acid2  Acidl Base 2

M NH, (aq)+H,0() = H,0 (a) + NH, (aq)
Acidl  Base2 Acid2  Basel

A TandTonly
B. TandMonly
C. Iand I only

D LIandII




image26.jpeg
22.  Iron(Ill) ions. Fe™, react with thiocyanate ions. SCN™. in a reversible reaction to form a red solution.
Which changes to the equilibrium will make the solution go red?

Fe*(aq) + SCN™(aq) = [FeSCN]* (aq) AH® = +ve
Yellow Red

I Increasing the temperature
1L Adding FeCl,
I Adding a catalyst

A TandIonly
B. TandIMonly
C. Iand I only

D. LIandII

23.  Consider the following reversible reaction:

2NO, (g) = N,0.(2)

What s the value of K, for the reaction when the equilibrium concentrations are [NO,] = 4.0 mol dm™
and [N,0,]=4.0 moldm™?

A 025
B. 050
c 20
D. 40

24. Which substance can act as a Lewis acid but not as a Brensted-Lowry acid?
A HQ
B. CHCOOH
C. BF,

D. CF,COOH
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20.

Consider the reaction:

2NO(g) +Br,(g) - 2NOBr (g)
One suggested mechanism is:

NO(#) + Br,(e) == NOBr,(2)

NOB,(g) + NO(g) —— 2NOBr (g)
‘Which statements are correct?

I NOBr(g) is an intermediate
IL  The second step s the rate-determining step.
0 rate = K[NOT [Br,]

A TandTonly
B. IandMonly
C. Mand M only

D. ILMandII

Sast

slow

What happens to the position of equilibrium and the value of K, when the temperature is increased in

the following reaction?

PCly(g) = PCl(g) + CL(g)

AH® =+87.9 kI mol

Position of equilibrium Value of K,
A shifts towards reactants deereases
B shifts towards reactants inereases
[ shifts towards products deereases
D. shifts towards products inereases
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Which graph represents a reaction that is first order with respect to reactant A.

A B

£ £\
8 8

g £

] s

z s

2 g

4 ES

Concentration of A Concentration of A
c D.

< <

o %

H z

£ £

H 3

H £

] ]

£ s

3 3

Tine for reaction to finish Time for reaction to finish
Which are characteristics of a dynamic equilibrium?

I Amounts of products and reactants are constant.

IL  Amounts of products and reactants are equal

I The sate of the forward reaction is equal fo the rate of the backward reaction.
A TandTonly

B. TandMonly

C. Iand I only

D. LIandIIl




image29.jpeg
Consider the following reaction.

2NO(g) +2H,(g) — Ny (g) +2H,0(g)

A proposed reaction mechanism is:

NO(g) + NO(g) = N,0,(g) fast
N.0,(2) +H,() > N,0() +H,O(g)  slow
N:0(g) +H,(g) = N, (g) +H.0(g) Jast

What is the rate expression?

A

B

sate = k{H,][NOJ*
rate=k[N,0,1[H,]
sate = ([NOJ[H, T

rate = k[NOT'[N,0, T'[H,]

The reaction below represents the Haber process for the industrial production of ammonia.

N, (g) +3H,(g) = 2NH, (g) AH® =-92kJ

The optinum conditions of temperature and pressure are chosen as a compromise between those
that favour a high yield of ammonia and those that favour a fast rate of production. Economic
considerations are also important

Which statement is correct?

A

B.

A higher temperature would ensure a higher yield and a faster rate.
Alower pressure would ensure a higher yield at a lower cost.
Alower temperature would ensure a higher yield and a faster rate.

A higher pressure would ensure a higher yield at a higher cost.




image30.jpeg
‘Which step is the rate-determining step of a reaction?
A The step with the lowest activation energy

B.  The final step

C. The step with the highest activation energy

D.  The first step

Which statement about chemical equilibria implies they are dynamic?
A The position of equilibrium constantly changes.

B.  The sates of forward and backward reactions change.

C. The reactants and products continue to react.

D.  The concentrations of the reactants and products continue o change.

Which is the correct relationship between enthalpy of vaporization, intermolecular forces and
boiling point?

Dt [ et T g i
A small weak high
B small strong low
c large weak high
D. large strong high
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What is the effect of an increase of temperature on the yield and the equilibrium constant for the
following reaction?

2H,()+CO(g) = CH;0H() AH® =-128k]
Vield Equilibrium
constant
A Increases Increases
B Increases Decreases
c Decreases Increases
D. Decreases Decreases

Which statements about a liquid are correct?

L When the temperature of a liquid in a closed container increases, ifs vapour pressure
inereases,

IL  When the pressure on a liquid increases, its boiling point increases.

M When the pressure on a liquid increases, its vapour pressure increases
A TandTonly

B. TandMonly

C. Iand I only

D. LIlandII

What is the conjugate base of H,CO; according to the Bronsted-Lowry theory?

A coF
B. HCO;
c HCoS

D. co,
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23.

24.

Consider the following reaction.

NO, (g) + CO(g) = NO(g) + CO, (g)

At T<227°C the rate expression is rate = k[NO,F'. Which of the following mechanisms is
consistent with this rate expression?

A NO,+NO,=N,0, Jast
N0, +2C0 —2NO +2C0, slow
B. NO,+CO—NO+CO, slow
C. NO,-NO+O slow
€0+0-CO, Jast
D NO, +NO, —NO; +NO slow
NO, +C0 —NO, +CO, Jast

0.50 mol of I,(g) and 0.50 mol of Br,(g) are placed in a closed flask. The following equilibrium
is established.

L(2) +Br(e) = 2Br (&)

The equilibrium mixture contains 0.80 mol of IBr(g). What is the value of K.?

A 064
B. 13
c. 26
D. 64

Which species behave as Bronsted-Lowry acids in the following reversible reaction?
H,PO, (aq)+CN (aq) = HCN (aq) + HPO," (aq)
A HCNand N

B. HCNand HPO,”

C. HPO; and HPO*

D. HCNand HPO,
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2.

Which statement is correct for a crystal of iron(Il) sulfate in a state of equilibrium with a saturated
solution of iron(I]) sulfate?

stopper

flask

iron(Il) sulfate solution
iron(ID) sulfate crystal

A The colour of the solution darkens as the crystal continues to dissolve.
B.  The concentration of the iron(II) sulfate solution increases as the water evaporates.
C. The shape of the iron(II) sulfate crystal does not change.

D.  The colour of the solution does not change but the shape of the erystal may change.

Consider the equilibrium between methanol, CH,OH (1), and methanol vapour, CH,OH (g)
CH,OH (1) = CH,0H (2)

What happens to the position of equilibrium and the value of X, as the temperature decreases?

Position of equilibrium Value of K,
A shifis to the left decreases
B shifis to the left increases
c shifis to the right decreases
D. shifis to the right increases

Which statement about acids is correct?
A ABronsted-Lowry acid donates an electron pai.
B. A Lewis acid donates a profon.

A Bronsted-Lowry acid accepts a proton.

D. A Lewis acid accepts an electron pair.
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The activation energy of a reaction may be determined by studying the effect of a particular variable
on the reaction rate. Which variable must be changed?

A pH
B.  Concentration
C. Surface area

D.  Temperature

An increase in temperature increases the amount of chlorine present in the following equilibrium.
PCIL,(s) = PCL (1) + CL(g)

What is the best explanation for this?

A The higher temperature increases the rate of the forward reaction only.

B.  The higher temperature increases the rate of the reverse reaction only.

C.  The higher temperature increases the rate of both reactions but the forward reaction is affected
‘more than the reverse.

D.  The higher temperature increases the rate of both reactions but the reverse reaction is affected
‘more than the forward.

Which affects the equilibrium vapour pressure of a liquid in a sealed container, assuming that there is
always some of the liquid present?

A The temperature of the liquid
B.  The surface area of the liquid
C. The volume of the liquid

D.  The volume of the container
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Consider the following reversible reaction.

Cr,0," (aq)+H,0 () = 2C10,” (aq) + 2H' (aq)

What will happen to the position of equilibrium and the value of K, when more H” ions are added at
constant temperature?

Position of equilibrium Value of K,
A shifis to the left decreases
B shifis to the right increases
c shifis to the right does not change
D. shifis to the left does not change

Consider this equilibrium reaction in a sealed container:
H,0() = H,00)

What will be the effect on the equilibrium of increasing the temperature from 20°C to 30°C?

A, More of the water will be in the gaseous state at equilibrium.

B.  More of the water will be in the liquid state at equilibrium.

C. At equilibrium the rate of condensation will be greater than the rate of evaporation.

D. At equilibrium the rate of evaporation will be greater than the rate of condensation.

When equal volumes of four 0.1 mol dm” solutions are arranged in order of increasing pH
(lowest pH first), what is the correct order?

A CH,COOH < HNO, < CH,CH,NH, < KOH

B. HNO, <CH,COOH < CH,CH,NH, < KOH
C.  CH,CHNH, <HNO, < CH,COOH < KOH

D. KOH < CHCHNH, < CH,COOH < HNO,
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The graph below shows how the concentrations of the reactant and product in a reversible reaction
change with time.
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When is the reaction at equilibrinm?

I Time=10s
I Time=20s
I Time=55s

A TandTonly
B. TandMonly
C. Iand I only

D. LMandII
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26.  Liquid bromine and its vapour are at equilibrium inside a sealed container:
Br,() =Br,(2)
Which change increases the equilibrium concentration of bromine vapour?
A Adding more liquid bromine
B.  Removing some liquid bromine
C.  Decreasing the volume of the container

D. Increasing the temperature

The equation for a reversible process can be represented in two ways:
H,(2)+1,(9) = 2HI@® K,
HI(@) = 1H,@®+1L@ K,

What is the relationship between the equilibrium constants K., and K,?

A K=K

28.  Which combinations form buffer solutions?

I 50 cm’ of 0.1 moldm™ CH,COOH (aq) + 25 cm’ of 0.1 mol dm™ NaOH (aq)
IL 50 em’ of 0.1 moldm™ CH;COOH (aq) + 50 cm’ of 0.1 mol dm™ NaOH (aq)
IL 50 e’ 0f 0.1 moldm™ CH,COOH (aq) + 50 cm’ of 0.1 mol dm™ CH,COONa (aq)

A TandTonly
B. TandMonly
C. Iand I only

D LOandII
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‘Which units could be used for the rate of a chemical reaction?
A moldm” min

B mol ' min”

C dm’min

D.  moldm™ min"

10cm’ of liquid hexane is placed in a closed 1 dm’® container at 298K. Which change would increase
the equilibrium vapour pressure of the hexane in the container?

A Putting the container in a refrigerator
B.  Adding 10 cm’ of hexane to the container
C. Reducing the volume of the container to 0.5 dm’

D. Putting the container in a water bath at 308 K

Which change will increase the equilibrium concentration of sulfur trioxide in this reaction?
250,(2)+0,(2) = 250,(2) AH® =negative

A Decreasing the concentration of oxygen

B. Increasing the pressure

C.  Usinga catalyst

B Bacorasig the Soustting
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